
e3 = K

{[
4 1
1 −2

] [
6 3
3 0

] [
8 5
5 2

] [
10 7
7 4

]
· · ·

}
Cancelling scalar factors:[

4 1
1 −2

] [
2 1
1 0

]
=

[
9 4
0 1

]
= R4

[
9 0
0 1

]
[

9 0
0 1

] [
8 5
5 2

]
=

[
72 45
5 2

]
= R14

[
2 17
5 2

]
[

2 17
5 2

] [
10 7
7 4

]
= R

[
75 39
64 43

]
[

75 39
64 43

] [
4 3
3 2

]
= RL11

[
32 25
33 3

]
(a0 = 20)[

32 25
33 3

] [
14 11
11 8

]
= RL2R2

[
50 17
13 19

]
(a1 = 11, a2 = 1, a3 = 2)[

50 17
13 19

] [
16 13
13 10

]
= R2L3

[
111 102
122 53

]
(a4 = 4)[

111 102
122 53

] [
6 5
5 4

]
= RL5RL

[
77 24
25 93

]
(a5 = 3, a6 = 1, a7 = 5, a8 = 1)

and so on.
Hence e3 = [20, 11, 1, 2, 4, 3, 1, 5, 1, . . .].
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